AUN—EHIE [ha—2]

B B - G 6FE11LHA10E (H) NFEH R —=2 5T
B 2l 7 I ZMAEL SLA (B :7T1A - Z&cfE: 10A)
HDCP_EFR : 36 Tt 18 b U FRF—  (PAR+3)
fELA—n: H 02000 B\ O0@C®® a/n
FNESCIRGE - s (FOIE) - 55T 1 U EWIE) IR - %0 64E11H 108 (R)
ZINFE 4 1 [iic] GROSS | HDCP NET {5 JERE BINE4 th [ii%) GROSS | HDCP NET {5
B Al B 42 40 82| 10.8) 71.2 51 {i | Al FHE 46 46 92| 15.6| 76.4
HELE RS | ER PEW 38 3% 75 3.6| 71.4 52 (L |FRA Fk 47 45 921 15.6] 76.4
4 AEE B 36 36 72 0.0] 72.0 53 {i | EM FuAg 43 43 86 9.6] 76.4
4 (T AR mih 44 45 89 16.8| 72.2 54 i | KF #5 47 44 91 14.4] 76.6
5 fir i+ m i 44 39 83 10.8] 72.2 55 it b/ gk EREL 39 45 84 7.2] 76.8
B frithA % 41 47 88| 15.6]| 72.4 56 {ir |HYP HF 45 44 g9l 12.0f 77.0
TN S T 42 45 87 14.4| 72.6 57 {7 | ik 1= 49 46 951 18.01 77.0
8. iPNEF HET 38 43 81 8.4| 72.86 58 {ir | ik 15 43 46 891 12.0f 77.0
9 {ir | ¥ EH# 44 37 81 8.4| 72.6 59 {7 | ki & 44 44 88! 10.8] 77.2
10404 KA 36 38 74 1.2] 72.8 60 izl il FF 45 49 94{ 16.8] 77.2
11 fir [#kih B g 44 41 85! 12.0] 73.0 61 {r |%58 ¥B 43 44 87 9.6 77.4
12 i PPN E1E 35 38 73 0.0/ 73.0 62 i | {ETE 5+ 41 46 87 9.6 77.4
13 i | H8E = 43 47 90| 16.8| 73.2 63 {i [HEMH %= 43 44 87 9.6 77.4
14 {ir | B FlE 49 47 96 22.8| 173.2 64 {7 | Bt E RIT 42 44 86 8.4 77.6
15 {0} H 5 5 i 44 40 84 10.8| 73.2 65 {7 |4 Rk 42 43 85 7.2] 77.8
16 fir [Endt & 41 42 83 9.6 73.4 66 {ir | G #E 75 Fl 44 40 84 6.0/ 78.0
17 fF |8k ANHE 50 51 101 27.6] 73.4 67 {7 |#M EF] 41 47 88 9.6 78.4
18 fi | HAT #EA 42 47 89| 15.6| 173.4 68 {if | K/ PECL 42 40 82 3.6/ 78.4
19 fi /8 Bk 42 40 82 8.4] 73.6 69 {i |RIKE EN 44 49 93] 14.4| 78.6
20 {0 | A i 46 41 87] 13.2] 173.8 0L | HH FEwap 47 46 93] 14.4| 78.6
21 A7 | 7HEF —= 48 51 99| 25.2] 73.8 A o o 20 48 50 981 19.2| 78.8
22 {7 |FAIE T 45 42 871 13.2]| 173.8 72 {ir [IRA e 51 46 971 18.0) 79.0
23 fr | EM FH 43 43 86! 12.0] 74.0 73 4 |G 49 51 1001 20.4] 79.6
24 fr |HF SEH 43 43 86| 12.0] 74.0 74 {ir | AR A 45 47 92| 12.0f 80.0
2547 |UF #B% 45 47 921 18.0] 74.0 75 fr | ¢k e 50 57 107! 26.41  80.6
26 _{ir | M s 49 49 98¢ 24.0] 74.0 76 fif |6 Fn¥ T 53 63 116| 33.6] 82.4
27 fr | &P Ef 43 48 91 16.8] 74.2 77 fir [ A +42 59 57 1161 33.6] 82.4
28 {7 | KB R 41 43 84 9.61 74.4 8 L |EMH XH0 55 54 109]  26.4] 82.6
29 {7 | KBS ER 44 39 83 8.41 174.6 79 {7 | A FoRE 52 51 103] 19.2] 83.8
S0 NP TR 1N 44 50 941 19.21 174.8 80 {ir | A FHiE 55 53 108] 22.8| 85.2
31 {r | g M 8L 41 47 881 13.2] 174.8 81 {i |HE/ i 51 59 110| 22.8| 87.2
32 {7 [EFE f— 46 42 88 13.21 174.8
33 67 | S Wbk ¥ 42 45 87 12.01 175.0
34 {7 | &) A8 43 44 871 12,0} 175.0
35 00 LRIk 755 50 48 98! 2281 75.2
36 {7 | PaEE BT 48 50 98| 22.8] 75.2
37T {7 1A% IE 43 43 86| 10.8] 75.2
38 i | K&\ E 41 44 85 9.6| 75.4
39 {7 (N HT 47 50 97| 21.6] 75.4
a0 (ir M 45 46 91| 15.6| 75.4
41 {7 [k (= 54 48 102 26.4] 75.6
42 {7 |76 FE 41 43 84 8.4| 75.6
43 {7 | TR B— 44 45 89 13.2] 75.8
44 (7 | TH 7% 48 46 94| 18.0| 76.0
45 (T UVE TN R 47 41 881 12.0] 76.0
46 _fir |/NE FEME 39 42 81 4.8 76. 2
47 i | M T 44 43 87 10.8] 76.2
48 v | WL % 46 52 98] 21.6| 76.4
49 {7 |/NEEJRL — % 44 42 86 9.6 76.4
B0 Sl g 8 51 47 98| 21.6] 76.4




A UN—RERE [la—R]

B EM 4T 658114100 (B) NFEH )= 57
B Ak - LU 7 H ZMAE TON (B 720 - & TA)
HDCP LR : 36 T80 #7738 b U ZNRF—  (PAR+3)
BLF—n: H OO0 M C@DeD® a/n
FUEALHRE © AR (BB - BH5v7 4 G EWIE) FIRI : 45F0 646115108 (H)
NERT ZINE 4 i) £l GROSS | HDCP | NET % MEAE BN 4 i) k] GROSS | HDCP | NET fiii#
(o AH 42 | 42 81| 14.4]| 69.6 41 i [ A0E 10 39 | 45 84| 8.4| 756
FEERD] 2R Hi—I 33 39 72| 2.4] 69.6 42 i | 1A #— 40 49 89| 13.2] 75.8
(G AT S 38 34 72 1.2{ 70.8 43 fit | A<M FEFn 50 45 95f 19.2| 75.8
G i e x A Fuk 41 42 83| 12.0] 71.0 44 i | /NBF EHR 46 49 95| 19.2| 75.8
6 1) iE 46 | 42 88| 16.8] 71.2 @s | kK % 46 43 89| 13.2] 75.8
6 (iR e 47 44 91| 19.2{ 71.8 46 i | = % 46 48 94| 18.0{ 76.0
(7 hr) Rl BT 41 38 79 7.2] 718 47 fi7 | fEE %= 44 44 88| 12.0] 76.0
B i) L+ %= 19 | 46 95| 22.8| 72.2 48 fir | A o0& 53 47 100| 24.0] 76.0
Q filwie ——= 46 48 94| 21.6| 72.4 49 fir | PEH % 45 48 93| 16.8| 76.2
do_{P| iR (55 4 | u 88| 15.6| 72.4 (50 fir) #aim K 6 | 46 92| 15.6] 76.4
11 fi7 | ppiR Bk 50 48 98| 25.2| 72.8 51 i [ ik & 46 46 92| 15.6| 76.4
12 fif |V E=5 42 38 80 7.2] 72.8 52 {if | A AE 43 42 85 8.4 76.6
13 i | HiE F1155 41 43 84| 10.8| 73.2 53 {iz | fn@ 48 43 91| 14.4| 76.6
14 fif | ¥4 & 38 40 78 4.8| 73.2 54 i | A B 41 49 90| 13.2| 76.8
45 (D] # it 19 | 46 05| 21.6| 73.4 &5 (i) AN B 43 | 47 90| 13.2] 76.8
16 fir | di)ll 5 45 50 95| 21.6| 73.4 56 if [#HE LI F 45 50 95| 18.0] 77.0
17 LR 43 46 89| 15.6| 73.4 57 i | @ B3 49 51 100 22.8] 77.2
18 fi | Sl IEk 39 38 77 3.6 73.4 58 {ir | LI ifE 52 53 105| 27.6| 77.4
19 i |7£F ji#E 41 47 88| 14.4| 73.6 59 iz | M@ 5B 45 42 87 9.6| 77.4
20 D M BEE 39 | 43 82| 8.4 73.6 M0 (L)% %0 sk 47 | 51 98| =20.4| 77.6
21 i | 4T diEE 45 43 88| 14.4| 73.6 61 {if |#Ar FEH 47 39 86 8.4 177.6
22 {0 | AAT IE 46 48 94| 20.4| 73.6 62 fir | =i KB 52 45 97| 19.2| 77.8
23 L | & dolE 41 41 82 8.4 73.6 63 fir [0 FFE 51 56 107| 28.8| 78.2
24 {7 | TE{% EE 44 43 87| 13.2]| 73.8 64 i | B #th 41 48 891 10.8| 78.2
(25 (| A% =pg 42 | 38 80| 6.0] 74.0 @5 fir) A%t #oC 53 | 54 107] 28.8] 78.2
26 7 | ILg {5 44 48 92| 18.0] 74.0 66 i | [ 1517 54 51 105| 26.4| 78.6
27 i ' H HER 44 41 85| 10.8| 74.2 67 fir |[fat BF 54 50 104f 25.2] 78.8
28 {r Akl ek 44 40 84 9.6 74.4 68 {ir | HIE R 51 53 104| 25.2{ 78.8
29 ff | FE FT 37 35 72| +2.4] T74.4 69 i | il 7 50 53 103| 24.0] 79.0
80 DB 1 a0 | a4 84| 9.6| 74.4 40 prd Ful s 39 | 45 84| 4.8] 79.2
31 fir | T4 #&%E 50 51 101| 26.4| 74.6 71 i |4k BFFE 46 45 91| 10.8] 80.2
32 {7 | FTHT fB— 42 47 80| 14.4| 74.6 72 fif | iE HiE 49 52 101] 20.4| 80.6
33 i |IEE8 &7 47 48 95| 20.4| 74.6 73 fiL RIS 49 50 99| 18.0| 81.0
34 i | HA] 28 46 43 89| 14.4| 74.6 74 L | REBRR EE 60 48 108| 26.4| 81.6
G DB BAT 50 | 50 100] 25.2| 74.8 a5 fl A BiHS 48 | 46 94| 12.0] 82.0
36 A | B YA 45 54 99| 24.0] 75.0 AR 50 | 53 112| 28.8| 83.2
37 | D 1B 48 55 103| 27.6| 75.4 77 L EM fih 58 61 119| 34.8| 84.2
38 {ir | FFIR MEF 47 44 91| 15.6| 75.4 78 L | IR 48 57 105/ 20.4] 84.6
39 L FEA I 44 47 91| 15.6| 75.4 79 i | &t 1B1T 51 60 111} 24.0] 87.0
A0 D FR B H 12 | 42 84| 8.4| 75.6




Aun—EEs [Ea—2R]

BH{E H A - M 6ELLAL0R (8) NEH V=2 5T
Bk B2y 7 H BIMNE 78N (B 64N - At 140)
HDCP E[R : 36 T T3 : b U AR F—  (PAR+3)
BLi—r: #0008 F 023G (1/1)
FEINEAZERE © i (@R - BT 1 UhEWIE) FORI : &5F0 64E11H108  (A)
NEAE ZiNHE 4 53] & GROSS | HDCP | NET ik =03 ZINE A 53] i GROSS | HDCP | NET fii &
i e W 38 36 74 4.8] 9.2 41 fir | KM sF 48 49 97| 21.8] 75.4
TEMEE A B 41 38 79 9.6| 69.4 42 fL|EH B 41 43 84 8.4| 175.6
3L s BL=FRB 38 38 76 6.0 70.0 43 fr | P B [k 43 40 83 7.2| 75.8
4 L) TH RE 43 41 84| 13.2| 70.8 44 Az | H J/IT 52 48 100| 24.0| 76.0
5 | BEF T&HTF 40 43 83| 12.0| 7L.0 45 ip| KIR Foih 46 47 93| 16.8| 76.2
6 | Al & 44 45 89| 18.0| T71.0 46 {if | #5AK NE— 50 53 103| 26.4| 76.6
7 (L #mE kR 45 40 85| 13.2| 71.8 47 {f [ iRH 87 45 51 96| 19.2| 76.8
8 il g 7% 41 37 78]  6.0| 72.0 48 i [HAE MES 48 54 102] 25.2| 76.8
9 fLimn &% 45 43 88| 15.6| 72.4 49 fr | B A 41 43 84 .2] 76.8
10 [zi*En BAE 45 43 88| 15.6| 72.4 50 fir | =[F 55 40 43 83 .0l 77.0
11 i | @ 'L 45 46 91| 18.0| 73.0 51 fif | AP K 46 48 94| 16.8| 77.2
12 {if {{ERE TR 46 39 85| 12.0| 73.0 52 QL | K FNT 48 46 94| 16.8| 77.2
13 {if | i ife 44 40 84| 10.8| 173.2 53 {ir | 4 1 47 41 88) 10.8| 77.2
14 fif | HA 3N 43 40 83 9.6 73.4 54 i | R HFE 46 46 92| 14.4| 77.6
15 | KA FE 41 42 83 9.6| 73.4 55 N | Bl BT 41 51 92| 14.4| 77.6
16 fir |#EL @ — 47 47 94| 20.4| 73.6 56 L | KA BT 49 43 92| 14.4| 77.6
17 i | B H2F 41 45 86| 12.0| 74.0 57 ML | Al — 5 52 51 103 25.2| 77.8
18 fir | KR HAE 47 44 91| 16.8] 74.2 58 L | At BT 52 45 97| 19.2| 77.8
19 fif | ILA & 43 42 85| 10.8] 74.2 59 {if | JIlA 381 50 41 91 13.2] 71.8
20 L | TERE 47 48 95| 20.4| 74.6 60 fif| = F 2EiF 54 48 102 24.0| 78.0
21 {ir | L iR 43 40 83 8.4| 74.6 61 i |#BHE =k 47 49 96| 18.0| 78.0
22 {7 |HL K5 43 46 89| 14.4] 74.6 62 fir [FKIL s 44 45 89| 10.8] 78.2
23 fif | KAARE & 43 45 88 13.2| 74.8 63 {ir | ik A 49 50 99| 20.4] 78.6
24 LI KB =ik 42 40 82 7.21 74.8 64 fir |IUTF =2 48 45 93| 14.4| 78.6
25 fL| ATl FEA 38 38 76 .21 74.8 65 {ir | Rl B3 57 53 110} 31.2] 78.8
26 fir |DUF 3~ 49 45 94| 19.2] 74.8 66 fir | KT FEAER 53 49 102] 22.8] 79.2
27 {r ik BT 41 41 82 7.2] 74.8 67 {if | BFEL R4 53 48 101| 21.6] 79.4
28 fir | Tk =k 41 46 87| 12.0| 75.0 68 fir | e f ¥F 43 51 94| 14.4! 79.6
29 fif |4 nE— 42 45 87| 12.0| 75.0 69 {if | FbF IEk 51 53 104| 24.0f 80.0
30 iz |3E bT 48 45 93| 18.0] 75.0 70 7 |G BE 54 55 109| 28.8| 80.2
31 |l BEF 48 45 93| 18.0| 75.0 71 {ii | Tk @ 54 48 102| 21.6] 80.4
32 ir | HEA eHl 46 41 87| 12.0| 75.0 72 (L|F EF 48 53 101 20.4| 80.6
33 AL iEAP HiFH 42 51 93| 18.0| 75.0 73 4L | R HE 57 55 112| 31.2| 80.8
34 i | {FiE BT 43 44 87| 12.0| 75.0 74 (LY fOA 58 52 110 27.6] 82.4
35 () i oh 46 | 40 86| 10.8| 75.2 75 {iL|$hA R 53 | 52 105 2.6 83.4
36 i |[ME ZIE 40 40 80 4.8| 75.2 76 fir | HEFE f— 59 56 115 31.2| 83.8
37 fif |BER BIE 47 45 92| 16.8| 75.2 77 4L | il mEmEI 57 56 113] 26.4| 86.6
38 0 | Ll filiE 46 46 92| 16.8| 75.2 78 4L | B Sk 60 66 126 36.0| 90.0
39 {ir |{EH IEf 42 43 85 9.6| 75.4
40 firf=F =N 42 43 85 9.6| 75.4




